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The figures in the right margin indicate marks.
Answer all the questions.

1. Answer any five of the following questions: (2x5=10)

a) Mention any two causes of environmental degradation.
A [T gio FRd S@d 341
b) What is free rider problem?

- aBeR T Fie

¢) What do you mean by positive externalities?

(g ATl IE0Ce I @R
d) Distinguish between private and social cost.

JfeTe @I ANEGE [T TG AL F41

e) Mention two protocols that aim at preventing climate changes.
SR AN @Y FAF A0 qo AT SEd I
f) What is Green Tax? Give an example.
TE I I29F0 TwRA wre|
g) Mention two use-values of environmental resources.
AferTe Foma gt GRE- T Tre w9
h) What is optimum pollution?

Optimum pollution Je

2. Answer any four of the following questions: (5x4=20)

a) What is externality? Distinguish between positive and negative externalities.

JfgFel Fr2feADF WA Wheavs e T N F4|
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b)

d)

f)

What is Pigovian Tax? Explain Coase — Theorem.
Pigovian ¥4 JI? Coase — Theorem T )

Mention two methods of pollution abatement. Explain why environment is public

goods?
73 YO 96 *rafoq Trard I AR SR Ady N o i
34?

What are merit goods? How does market failure occur in presence of merit goods?

WYl A7 P2yl AN SAFfere I I Il 62

Define poverty. How poverty affects the environment?
wiff@E W&l wie| witw AREE IeE qeiie a2

Discuss briefly the advantages and disadvantages of tradable emission.
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3. Answer any one of the following questions: (10x1=10)

a)

b)
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What is WTP (willingness to pay)? Explain how WTP is linked to use-value and non-use
value of goods.
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What do you mean by global warming? Discuss the various steps needed to reduce
environmental pollution in Developed countries.
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